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max.z= 1/3x, +2/3s,
s.t. 11/3x,+s, -2/3s, =17
X, +2/3X, 1/3s, =5

2/3x,  +1/3s,+s;-1,=1/3
X1, X9, S11 S5, S5, f; 0




(LP1) (cut algorithm)

Z | X% | % | s | s | s (cutting plane - )
s,] 0] oo 1 [-52]16][172
x ] 0| 1|o0o]o]olws]3s
1.1 1
x| 00| 1] o0 [12]12]1 §>x2+552—§s3:E
z] 1] oo o |w2]|wel13e Il
(LP2) | max. z= 1/2s, +1/6s, Gomor
st s, -5/25, +11/65,=17/2 y

X, +1/35,=3 1s,1.5.1

X, +1/2s, +1/65,=1/2 2722772

1/2s, +1/2s, 1/2
X1, X, S1, 85,83 0

Gomory

e
. ~ YES! - (IP) ? @
4 W)

MIP
2
IP
max. z=8x,+5X,
s.t. X+ X, 6
Ox,+5x, 45
Xy X 2, LpP




40

Indpackdiy o
—— 44550
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LP OPTIMUM FOUND AT STEP 9
OBJECTIVE VALUE = 44418.1836

SET ZATO>= 11AT 1, BND=-0.4552E+05 TWIN=-0.4447E+05 20
SET CTO>= B83AT 2, BND=-0.4574E+05 TWIN=-0.1000E+31 27
SET ZATO<= 11AT 3,BND=-0.4574E+05 TWIN=-0.4882E+05 31
SET XATO<= 2AT 4, BND=-0.4582E+05 TWIN=-0.4792E+05 36
SET ZBTO<= O0AT 5, BND=-0.4584E+05 TWIN=-0.4785E+05 38
NEW INTEGER SOLUTION OF 45840.0000 AT BRANCH 5PIVOT 38
BOUND ON OPTIMUM: 44468.18

DELETE ZBATLEVEL 5

DELETE XAATLEVEL 4

DELETE ZAATLEVEL 3

DELETE CATLEVEL 2

FLIP  ZATO<= 10AT 1WITH BND= -44468.184

SET XATO<= 2AT 2 BND=-0.4455E+05 TWIN=-0.4665E+05 47
NEW INTEGER SOLUTION OF 44550.0000 AT BRANCH 6PIVOT 47
BOUND ON OPTIMUM: 44550.00

DELETE  XAATLEVEL 2

DELETE ZAATLEVEL 1

ENUMERATION COMPLETE. BRANCHES= 6 PIVOTS= 47
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LAST INTEGER SOLUTION IS THE BEST FOUND
RE-INSTALLING BEST SOLUTION...

OBJECTIVE FUNCTION VALUE

g> 1)  44550.00
£ | VARIABLE VALUE REDUCED COST
A 11.000000 300.000000

B 19.000000 150.000000

ROW SLACK OR SURPLUS DUAL PRICES
2) 0.000000 0.000000

: 3) 0.000000 0.000000
[ NO. ITERATIONS= 48
—-BRANCHES= 6 DETERM.= 1.000E 0




